EARAROBEEIERT — 2 N— IBISH —F

2017547128 (k) 1EIEMH5H

KM C 3= ¥o5%4m®LE

‘ (%] 8 ‘ (sl — | 4 (@) 14000 KB

[~E4£] 1% :250,000 ™  23#%&:60,000M ~ 33#%:30,000H”  43%&:20,000M™ ~ 5 7#&:15,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N . TERE :30. -1-1- . — IOyE= (k)
N MEELPZE A R [ B VA [mEs
L:Tw IRy b BT NERXT AT — 45
= 2 49 | WHEEX 1:31.0 4-3-4-3 [38.9| — 8 480 | REEZ (EH)
2(1|1|¥o9714-7L 56.0 (3/4) 7 | W 7r—2rETa>
RHISTLIFL N BiHITIVE R ik
. hERE+ . —0_o_ — FHED (Fk)
3lglg| Vv / 2T a— LR i 1(73::; rezz | ° (f’g) AR
L:F1=TAHA B30T X INHISH T 7 — LI
. . EREE : ~7-3- — FEHE (BA)
417l 8 AL 39T7FANIL 4 5 54.05 1(731:)2 6-7-3-4 | 38.9 6 (4_5;6) 1”%2&&?&&
R:FFHRTFLT BiACTaITEN 2N
: . B7 | WiE¥ER 1:31.3 7-6-5-6 |38.9| — 4 462 | FAMEE (k)
5 6| L—IllE—~1> 54.0 (1/2) (-7) |FEERE
L:Zv—bR—o B:7I3AHL VDAY ¢ ]
— [, 2. 10-9-5 | 39.1| — EEFIR ()
5 o | 758w Fany H o7 e 1(331)8 10-10-9-5 | 39.1 7 (5_532) e
R:ixXAvaghave B:ieITF4/8T44R 7995 7T — I
= A2 : -8-8- - 76l ¥&7a (EM)
7177 | F>7H% N3 45 X 1.(342).5 8-8-8-7 | 40.0 2 (5_237) L
LNT BAHIHIIHYT TRKIS
A S # g | EEHNE 1:32.6 5-4-6-8 | 40.3| — 10 | 487 |REEE (EMA)
8 3|71 KIZR 56.0 (1/2) 0 |BRER®
LYy yHFTLrTe BiIUA R -T b e ]
= 4 6 | EBPF 1:32.6 3-5-7-9 | 40.3| — 3 478 | STEERE (EIA)
9|80 P~ X T 54.0 (nF) Ge) | FREEEA
R:VI=Z>t5T74L BHILRTAZT ¢ ke
*EE .34, —0-10- . — FEiERER (EM)
105! 5 T A —JLT— h 4 4 2 1(354)1 9-9-10-10 | 41.1 9 (5_126) ﬁ;%ﬁ
R4 hT—IVEY B:TF—F4ZXFaAX J—HrTr—L
® 1—F—@EBIERL
1T=7r= 4,9,10,1,3,8,6,7,5,2
2a=5F= 4,9,1,3,10,6,8,7,5,2
Ja=5= 4,9,8,1,6,3,10,7,2,5
43—+ — 4,9,1,8,2,6,7,3,10,5
[ /N
BB 4 260 | | 74 K 1-4 2,010 | | # = 1-4 9,220 | | 3ER 1-4-9 14,580
B B 4 1609 4-9 880M B = 1-4 6,210MH JEE 4-1-9 91,450
1 630M 1-9 4,220MH B H 4-1 9,060
9 210

ABICOVWTRDTEEERROODE. TR LIV,




